
8oF·F·F·% 
�																						 	 �																						 	

�� 	� 4���������
 								

GzGk�v�,'¼Fû6õFéG�2(#ØFþ8 FÛG��M7VFçFï8 	H�EgH� ������													 ���

�													

GzGk�v�,'¼Fû6õFéG�G9G4G•GMGŠG_GŠGTG1G‰GxGGG=FþG6G=GGGkGŠGFGqGŠFþ8 
����
�											 
�
��
�											

�æ#.�v�,FþG6G=GGGkGŠGFGqGŠFþ8 

	
 GzGk�v�,'¼Fû6õFéG�8 																																																																				 H�G]H� ���������								 �������
�								

>ÌG8GcG‰G^GwG•GG�v�,Fû6õFéG�8 

G8GcG‰G^GwG•GG�v�,Fþ�•��
–�•Fþ8  �����
��
�						 ���
������						

G8GcG‰G^GwG•GG�v�,Fû�€G�G6G=GGGkGŠGFGqGŠFþ8 G�Fþ�š�n1*�ZFþ8 	H�EgH� 
������
��						 
��
����
�

�



>Ì�¥�•5Ÿ/œFû�PFéG�8xFá5 G"'ì
°FéG����œFþ4�)�GzG^GzGQGF�š"á

)rG6G=GGGkGŠGFŠ"�FŠGŠFþ1.7907228 Š>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì>Ì0]TJ20-1.550 0 Td
[(>Ì)-1.8355(>Ì)-1.8355(>Ì)-1.8355(>Ì)-1.8355(>Ì)-1.8355(>Ì)-1.8355(>Ì)-1.8355(>Ì)-1.8355(>Ì)-1.8355(>Ì)-1.8355(>Ì)-1.8355(>Ì)-1.8355(>Ì)-1.8355(>Ì)-1.8355(>Ì)-1.8355(>Ì)-1.826(H�Š)-0286623(G�Š)-0.573245H�

�����������


